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	Task 1
	Task 2
	Task 3
	Task 4

	Practice
a) 10 o’clock
b) Half past 6
c) Half past 11
d) Half past 1
e) Half past 10


	Practice

a) Quarter past 3
b) Quarter to 3
c) 10 minutes past 10
d) 25 minutes to 5
e) 20 minutes past 7
	Reasoning

Dora is correct because it is not 3 o’clock yet, the hour hand will not be exactly on the 3.

Chase is correct because the minute hand points at 8 for twenty minutes to. Leah is describing quarter to.
	Problem solving

The time is around half past six. You may suggest it could be between twenty five to and quarter to seven. 

The minute hand is at about 12 minutes to the hour. The time could be 12 minutes to any hour.

The hour hand is past the 3 and has not yet reached the 4. The hand is closer to the three and therefore you should recognise that the time has not passed half past 3. Any answers between quarter past to half past 3 are acceptable.
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